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44 (Conversion L-ml) Paper 1   Name:      
 

 
 

1. John is having a party. He has bought 9.3 Litres of coke. Each cup holds 

250ml of coke. How many full cups can he fill during the party? Write your 

answer in the space below. 
 

 

 

 

__________ cups 

 

 
 

2. Grace is having a party. She has bought 15.7 Litres of orange juice. Each 

cup holds 250ml of orange juice. How many full cups can she fill during the 

party? Write your answer in the space below. 
 

 

 

 

__________ cups 

 

 
 

3. Ruth is having a party. She has bought 11.4 Litres of water. Each cup holds 

250ml of water. How many full cups can she fill during the party? Write your 

answer in the space below. 
 

 

 

 

__________ cups 
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4. Jen is having a party. She has bought 13.6 Litres of milk. Each cup holds 

250ml of milk. How many full cups can she fill during the party? Write your 

answer in the space below. 
 

 

 

 

__________ cups 

 

 
 

5. Derek is having a party. He has bought 21.2 Litres of coke. Each cup holds 

250ml of coke. How many full cups can he fill during the party? Write your 

answer in the space below. 
 

 

 

 

__________ cups 

 

 
 

6. Toby is having a party. He has bought 14.9 Litres of lemonade. Each cup 

holds 250ml of lemonade. How many full cups can he fill during the party? 

Write your answer in the space below. 
 

 

 

 

__________ cups 
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7. Michael is having a party. He has bought 11.45 Litres of water. Each cup 

holds 200ml of water. How many full cups can he fill during the party? Write 

your answer in the space below. 
 

 

 

 

__________ cups 

 

 

8. Max is having a party. He has bought 21.56 Litres of orange juice. Each cup 

holds 200ml of orange juice. How many full cups can he fill during the party? 

Write your answer in the space below. 
 

 

 

 

__________ cups 

 

 
 

9. Patrick is having a party. He has bought 31.249 Litres of coke. Each cup 

holds 200ml of coke. How many full cups can he fill during the party? Write 

your answer in the space below. 
 

 

 

 

__________ cups 
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10. Clare is having a party. She has bought 6.07 Litres of milk. Each cup holds 

100ml of milk. How many full cups can she fill during the party? Write your 

answer in the space below. 
 

 

 

 

__________ cups 

 

 

11. Gemma is having a party. She has bought 48.91 Litres of lemonade. Each 

cup holds 100ml of lemonade. How many full cups can she fill during the 

party? Write your answer in the space below. 
 

 

 

 

__________ cups 

 

 
 

12. Aaron is having a party. He has bought 32.6 Litres of orange juice. Each 

cup holds 250ml of orange juice. How many full cups can he fill during the 

party? Write your answer in the space below. 
 

 

 

 

__________ cups 
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Answers 

1. 37 

2. 62 

3. 45 

4. 54 

5. 84 

6. 59 

7. 57 

8. 107 

9. 156 

10. 60 

11. 489 

12. 130 

 


